
Check	
  your	
  1-­‐week-­‐memory	
  (7)	
  

1. A	
  recursive	
  descent	
  parser	
  has	
  one	
  function	
  for	
  each	
  …	
  
__________________	
  
	
  

2. Follow(A)	
  is	
  defined	
  such	
  that	
  t	
  is	
  in	
  Follow(A)	
  iff	
  ...	
  
_____________________________	
  
	
  

3. The	
  	
  following	
  two	
  forms	
  of	
  productions	
  can	
  not	
  occur	
  	
  
in	
  a	
  LL(1)	
  grammar	
  
_________________	
  
_________________	
  
	
  

4. How	
  would	
  you	
  program	
  (A	
  B)*	
  in	
  a	
  recursive	
  descent	
  parser?	
  
________________________________________	
  
	
  


